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cor_asym_us_avg (ppb) 1D pull distribution
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cor_usr 1D pull distribution

%10 ¥2 / ndf 23.46 /22
08— p0 4.864e-07 + 1.91e-08

Mean —0.003551+ 0.2106

Std Dev 1.01+0.1489

0-63_ T}l % lr [ ] } 8:_ .
ok | T17 }IT 7 [

—

—et—

r Constant 4.427 £1.430
Mean 0.3049 +0.3339
02— 6~
B | Sigma 1.145+0.329
[o) = L
T /

0III|II| ||||| |||| |I|III
8 6 4 =2 0 2 4 6 8




RMS

0.16

0.155

0.15

0.145

0.14

0.135

0.13

0.125

0.12

0.115

E

cor_usr RMS

HI_IIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II.II|I|§\
o




0.8

0.6

0.4

0.2

X
=
(=)

&

cor_usl

X2/ ndf 23.29/22
p0 5.022e-07 + 1.966e-08

_II|III|III|III|III|III._|_‘I_|I|III|I

M{H}m X

1D pull distribution

Mean -0.03917 £ 0.2096
10~ StdDev  1.005 + 0.1482
| Underflow 0
B Overflow 0
8_
X2 / ndf 9.491/4
r Constant 2.301+0.825
Mean -1.046 + 1.885
6_
L Sigma 21+£23
4
2 —
0 T bl v bod oy I
-8 -6 -4 2 0 2 4 6 8




RMS

0.16

0.155

0.15

0.145

0.14

0.135

0.13

0.125

0.12

X
NN
o

&

cor_usl RMS

|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII.|III

P —

11

12

13

14




cor_asym_us_dd (ppb) 1D pull distribution
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